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Question Number : 1 Question Id : 41652914316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In the formula X=5YZ2, X and Z have
dimensions of capacitance and magnetic
field, respectively. What are the
dimensions of Y in SI units ?

Options:



M-1L-2T4 A2
41652956042,

3 278 A4
41552356043, ML A

pl 2 3
41552356044, M~ L Tﬁq‘]

M-210T-4 A2
41652956045,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
g3 X=5YZ2 § X au1 Z i Tourd, wow:,
oI 91 Frashid 43 €1 Sl SFE H Y H

farm = 2 2
Options:
. SR Py
41652956042,
3 2T8 A4
41652956043, [M b L A]

A 2 3
41552856044, IM™L Tﬁﬂk]

M-210T-4A-2
41652956045,

Question Number : 2 Question Id : 41652914317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A plane is inclined at an angle a= 30" with
respect to the horizontal. A particle is
projected with a speed u=2 ms L from
the base of the plane, making an angle
B=15" with respect to the plane as shown
in the figure. The distance from the base,
at which the particle hits the plane is close

to :

(Take g=10 ms~2)

W%

Options:



41652956045, 14 €M

416520956047, 18 cm

g
41652956045, 20 €m

2
41652856049, <0 €M
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TF FHTA Afdd | o=30° T FH0 F961 ¢ |
UF FU FHI TH GHAA F AUR F M
u=2ms~! ¥ 999 ¥ 9=15° &F FH T
faR éifae fn s &1 =9 fag, o
F01 g9ac W TRar g, i 3R 9 58 F71 9f=e
HHE BT :

(g=]Un15_zf'ﬂfGFQ}

)

€. 0

S AR
U,ﬁ‘ﬁx’
ta=30°

Options:

41652956046, 12 M

41652056047, 18 cm

A
41652056045, 20 €M

>
41652956049, <0 €M

Question Number : 3 Question Id : 41652914318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
The time dependence of the position of a

particle of mass m=2 is given by

—

S ok
r(t)=2ti -3t j. Its angular momentum,
with respect to the origin, at time t=2 is :

Options:



41552356050,

A
416525956051, 15k
416525956052, =
416525956053, e ('; : ’F']
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Correct Marks: 4 WrongMarks: 1
S m = 2 & Tah &0 i ffd, 999 (1) &

%

FIEW, r(f)-2ti 3t2j T THF H
Tetag & GTUe t =2 I FHT19 a7 2rm ¢

Options:

41652856050,

41852956051,

41552856052, 2 {k j)

41552356053, e ('II })r]
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Two blocks A and B of masses m, =1 kg
and my=3 kg are kept on the table as
shown in figure. The coefficient of friction
between A and B is 0.2 and between B and
the surface of the table is also 0.2. The
maximum force F that can be applied on B
horizontally, so that the block A does not
slide over the block B is :

[Take g=10 m/s?|

Bl
| L

Options:

41652356054, 8N

41552356055, 12N

41652956056, 16N

41E52856057. 40N
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Z9E m , = 1 kg 791 m, =3 kg & 31 T2H,
A 991 B, FI Faa9R UF U T @ T 2
A A91 B % == =69 [0 0.2 TH B 991 T
& g o =Y IO 0.2 §1 2 B W T
T4 Gfds =5 F 1 AfaFan 9, 598 e
A T2 B FW Tl foHee, e :

[fe 2, g=10m/s?]

B F

J L

Options:

41552356054, 8N

415525956055, 12N

41852956056, 16N



41652356057, 40N
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Correct Marks: 4 Wrong Marks: 1
Abulletof mass 20 g has an initial speed of
1 ms— 1 just before it starts penetrating a
mud wall of thickness 20 cm. If the wall
offers a mean resistance of 2.5 10~ 2N, the
speed of the bullet after emerging from the

other side of the wall is close to :

Options:

1
41652956058, 0-7 MS

1
41652956059, 0-3ms

r 1
41652956060, O-4MS

1
41652956081, U-1ms
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2[]cmﬁT€T§3ﬁﬁTép{ﬂﬁﬁaﬂﬁ€ﬁﬁéﬁ?W§ﬁ
20 g TSHHIE HT TH WAl F1 =G
1ms—1 13 R 25x10-2 N &I 34
HIY TG § A SR g WE 9 e
et %1 =1 1 Wi TH BT

Options:

1
41652956058, U-/ MS

1
41652856059, 0-3ms

: 1
41652956060, O-4MS

1
41652056061, U-1ms
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Correct Marks: 4 WrongMarks: 1



A solid sphere of mass M and radius R is

divided into two unequal parts. The first

Fi 3
part has a mass of T and is converted

into a uniform disc of radius 2R. The second
part is converted into a uniform solid
sphere. Let [, be the moment of inertia of
the disc about its axis and I, be the moment
of inertia of the new sphere about its axis.
The ratio I;/15 is given by :

Options:

41852056062, 140

41652056083, 09
41652956084, 289

41652956065, 185
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90 M 71 559 R & U 2™ e &1 4
oA feegi 1 =T s B :% THME %
Teel e &1 U 2R 5o =+t vggE feoh
T geel S & | 99 §Y T 1 U uRHEE
39 el SAE S g1 A 1 e
SHF A F U TS IO T qAML, T
T 21 S5k e < Tfd: STEee A9 § | S
I,/L, &P

Options:

41652056062, 140
41652956063, 09
41652956084, 289

41652956065, 18D
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Correct Marks: 4 WrongMarks: 1
A metal coin of mass 5 g and radius 1 cmis

fixed to a thin stick AB of negligible mass
as shown in the figure. The system is
initially at rest. The constant torque, that
will make the system rotate about AB at

25 rotations per second in 5 s, is close to :

A

C
B
Options:

4.0%x10 % Nm
41652956005,

6
41652956067, /-0 <1077 Nm

5
41652956068, 10X 1077 Nm

5
41652956069, 20X 1077 Nm
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5 ¢ FoA9M 991 1 cm T531 % 91q & U foees
+1 TF Ydcl 09 FAHHE H1 B AB H
R S = ®1 97 e Ay |
feoraeen o %1 39 AB & Uf@: 5s @
25 FFH Ufd H&ve &1 a9 g9 F o
aa = 3ol =1 |2 9F 86

A

s "-)

L

B
Options:

4.0x10" Nm
41552956066,



ry ]
41652956067, /-2 <1077 Nm

5
41652956068, 0% 1077 Nm

5
41652056069, 2-0X107° Nm
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A spaceship orbits around a planet at a
height of 20 km from its surface. Assuming,
that only gravitational field of the planet
acts on the spaceship, what will be the
number of complete revolutions made by
the spaceship in 24 hours around the
planet ?

[ Given : Mass of planet=38 x 10> kg,
Radius of planet=2x10° m,
Gravitational constant G=6.67 x 10~ 11
Nm?/kg?]

Options:

41652956070, 13

41852956071, &

41652956072, 9

41652956073, 11
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U UE 1 Hdg H 20 km 9T W U dferaH
UE & Uftd: &N H gH @ T | gfe I W fEd
g &1 [EcAd &7 YYE & a I g
24 hrs T T T Y T3 1 941 &1 OH
B :

[ fean &, w8 #1 geqd =8 x 102 kg,

g &l BET=2x10°m,

T Faai G=6.67x 10~ Nm?/kg?]

Options:



41652956070, 19

416525956071, =

41652956072, 9

41652956073, 11

Question Number : 9 Question Id : 41652914324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The elastic limit of brass is 379 MPa. What
should be the minimum diameter of a brass
rod if itis to supporta 400 N load without
exceeding its elastic limit ?

Options:

41652956074, 100 mm

41652956075, 0-90 mm

41652956076, 1-16 mm

.36
41650956077, 1+o0 MM

Question Number : 9 Question Id : 41652914324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

drqel =1 Tedreqal 9191 379 MPa €1 400 N
o &1 faa1 yerea 991 9R 7 98 994
el Uidel 1 B8 1 JAdH 419 F41 811 ?
Options:

41652956074, 100 mm

41652956075, - mm

41652956076, 1-10 mm

.36
416528956077, aa
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Water from a tap emerges vertically
downwards with an initial speed of
1.0 ms ~'. The cross-sectional area of the
tap is 10~ 4 m2 Assume that the pressure
is constant throughout the stream of water
and that the flow is streamlined. The
cross-sectional area of the stream, 0.15 m
below the tap would be :

(Take g=10 ms~2)

Options:

41652956075 1x 1077 m?

5 )
41650956079 2% 1077 m"

4 )
41650956080, © X107 M

5 )
41650956081, 00107 me

Question Number : 10 Question Id : 41652914325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T e § 9 S 7= H AR 1.0 ms !
i ARfEye Tfd § e €1 79 & STy
FT2 FHEFTEA 10~ m? €1 IHT = 910 T =
=1 f7a a9 sie/E =+ gREE i | 99 9
0.15 m A9 9N F TIEY FE F EHIHA
&1

(g=10 ms—2 Sifad)

Options:

41652956078, 1 X107 ° m?

5 )
41650956079, 21077 me

4 g
41652956050, © X107 m”

5 7
41650956051, X107 m"
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One mole of an ideal gas passes through a

process where pressure and volume obey

T4 9%
the relation P=P, | 1 :{E—”} . Here PU
.

and Vuare constants. Calculate the change
in the temperature of the gas if its volume
changes from Vu to E‘JU.

Options:
o )
lo "”o

1
41652056082, = R

1 Fa Vu

41652956083, ¢+ R

41652956084, 4 R

5
41652956085, 4 R
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T TSy 719 1 Ueh Hiel Uah U WohH 9 e
¢ fomd s@ dw wEEd g3l

P aay, fodi® e aRTesm A v, 9
2V, A ¥ o 35 A9 S agerd 2 ;
Options:
FD ‘VFD

1
416525956082, 2 R

1 Fa vu

41652956083, + R

41652956084, 4 R

5
41652956085, ¢ R
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

When heat Q is supplied to a diatomic gas
of rigid molecules, at constant volume its
temperature increases by AT. The heat
required to produce the same change in

T.C‘]'.TIPEI'HT.LII'E, at a constant pressure 15 :

Options:
=Q
41652956085, O
~Q
41652956087, 2
2
—Q
41652956088, -
3
2Q
41652956089, 2
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Q 1 7998 279 WS S € 1 39 a9HE
T AT &1 gfg gt €1 35 argwe gfg =1 faa
e W giAfvEa w0 F T sEvgs

2T :
Options:
~Q
41652956086, O
Lty
41652956087, 2
2
—Q
41652956088, -
3
=42
41652956089, <
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Correct Marks: 4 WrongMarks: 1
A submarine experiences a pressure of

505x105Paata depthof d, inasea. When
it goes further to a depth of dz, it
experiences a pressure of 8.08 x 10° Pa.
Then d,—d, is approximately (density of
water= 10" kg/ m- and acceleration due to
gravity =10 ms~2)
Options:

41652956090, S00m

41652956091, P00 M

41652956092, 200 M

41652956093, 200 m
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THE H d, TETE W UF g 5.05% 10° Pa
F1 <@ NG FA g1 WG Tg TS 3N
T d, W IR § o 8.08 x10° Pa F1 T
WA FT ¢ 9 d,—d, = = qH
e (T € : 9 1 S =107 kg/m? e
TMEETT &0 =10ms 2 ) :

Options:

41652956090, 200 M

41652956091, 200 M

4165056090 200 M

41652956093, 00 m
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A source of sound 5 is moving with a
velocity of 50 m/s towards a stationary
observer. The observer measures the
frequency of the source as 1000 Hz. What
will be the apparent frequency of the source
when it is moving away from the observer
after crossing him ? ( Take velocity of sound
in air is 350 m/s)
Options:

41652356054, 857 Hz

41652056095, 1143 Hz

41652356036, 750 Hz

41652956097, 507 Hz
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T =G Hd S 50 m/s i Ta § TF R
FId1 1 aTFk Sg L@l & | 411 1 @ %1 Agfa
1000 Hz FATE <l €1 <19 &rd 35 1fd & 4
1 YR T IHH U1 1 411 gR1 A T
sqf &1 3G &1 °FE & : [ 9H 9 ° =4

=1 7T =350 m/s]
Options:
41652956094, 857 Hz

41652956095, 1143 Hz

4165259560396, 790 Hz

41652856097, 507 Hz
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In free space, a particle A of charge 1 pCis
held fixed at a point P. Another particle B
of the same charge and mass 4 pg is kept at
a distance of 1 mm from P. If B is released,

then its velocity at a distance of 9 mm from
Pis:

i .L-HJ.{E..I 1
—1-".TE0

Options:

= 9%x10% Nm2C 2

1
41652956098, -0x107m/s

3
41652956099, 20X 10" m/s

2
41652956100, 10 *10°m/s

41652956101, -0mM/s
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frafd 8 U 1 wC Ae9 & T F01 A &1 fag
PR T g | IH 3TE9 aA4 pg THHE F
THFTBFPHImm T R@EI BH
D4 WP ¥ 9 mm T W ITFT 71fd 1 91

-2

2 - ﬁﬂT%J:l = 9%10” Nm?C™? |
WE.G

Options:

1
41652956098, 0% 107 m/s

3
41652956099, 20X 10" m/s

2
41652056100, 10 * 107 m/s

41652956101, -0M/s
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A simple pendulum of length L is placed
between the plates of a parallel plate
capacitor having electric field E, as shown
in figure. Its bob has mass m and charge q.

The time period of the pendulum is given

by :
+ ——
+ |
+ o
+ s
+ L. -
+ =
+ prail
+ ek
i m =
iy i
= g = ‘
+ s
+ i
E - Joara
Options:
9 | L
._'Tl'l, [‘.
(g +L)
N* m /
41652956102,
EW;_\
‘u}(.ﬂ}l il
41652956103, wy
' I
i || 5
Nl
Vd?2|t£1
41652956104, Sl
[
| L
| 2
2 \/{rz L]EL
P 2
41652956105, s
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L &=TE o UF 90 ol &) fHaar T
TR @i WU & e, Tl faga a9 E R,
T @1 €| 39F el &1 Ge389H m a91 a9
q % 35 S/ I S e

A R
3

w

Options:

41852956102,

41552856103,

41652856104,

41552356105,
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Correct Marks: 4 WrongMarks: 1
Space between two concentric conducting

spheres of radiia and b (b > a) is filled with
a medium of resistivity p. The resistance

between the two spheres will be :

Options:

416525956106,



p (1 )

41650956107, F7ia b)

T

j‘ L1
41650956108 27 @ bJ

(1 1)

) '
41652956109, 27.a bJ
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Feslia 9 b (b > a) F < AHE=E FEH
el < a9 Uah p Aiaareehar =1 gerd o fea
S| ZA Al o Sr= Wiadie &1 °HE 8

Options: _
p (1 I 1-‘]
41650956106, TT @ b
p (1 )
41650956107, F7.a bJ
p (1 I 1)
2w\la b
41652956108, /
p(1 1)
" )
41652956109, 27.a bJ
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The magnitude of the magnetic field at the
center of an equilateral triangular loop of
side 1 m which is carrying a currentof 10 A
IS :

[Take p,=4wx 107 NA~?]

Options:

41652056110, L RT

41652056111, o BT



41652056112, O PT

41652056113, 18 T
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1 m Y 91 U GHag HYs$r 904 |
10 A 9R1 YaTfed Bl & | 396 &5 T F=hid
&1 = YT 31 /E 8

[p, =4 x10~7 NA~2 =ifere ]

Options:

41652956110, 1 RT

41652056111, O BT

41652956112, 0 PT

41652056113, 18wl
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A square loop is carrying a steady current I

and the magnitude of its magnetic dipole
moment is m. If this square loop is changed
to a circular loop and it carries the same
current, the magnitude of the magnetic

dipole moment of circular loop will be :

Options:

41652956114, F

41852956115 T

41652956116, ¢

416852956117, T
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T AT g § 9 1 vefed 39 T IEF
T4 59d 0 1 IREI m EAE | ag
T4 FHR FT T HISH UF FAHR gad J
W A1 25 gaER 9od F Frahig fgyga ol
=1 ICHTOT 21

Options:

41652956114, T

41652956115, W

41652956116, T

41652956117, T
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A coil of self inductance 10 mH and
resistance (.1 {} is connected through a
switch to a battery of internal resistance
0.9 {). After the switch is closed, the time
taken for the current to attain 50% of the
saturation value is: [take In5=1.6]

Options:

41650056115, 0-016s

41652956119, 0-002s

41652956120, 0-103 s

.
41652856121, 0.324 5
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10 mH TR TF 0.1 Q Wiy &1 TF Feal
= e il = 919 T 0.9 ) A qfaliy &
e Y Sired & | il 1 98 3 & v 39
Tgy § 9N 1 OF S 9 F 80% B H

S 99T BT
[[RA € : In5=1.6]
Options:
41652956115, 0168

41652956119, 0-002s

41652056120, 0103 s

o7
41852958121, 0.324s
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Light is incident normally on a completely
absorbing surface with an energy flux of
25 Wem ~ 2. If the surface has an area of
25 cm?2, the momentum transferred to the
surface in 40 min time duration will be :

Options:

41652956120 14%107°Ns

6
41652956123, 0% 107 Ns

3
41650956104 2-0%1077Ns

= 4
41652956125, 0-3X107 " Ns
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T U S7EEE 2 W25 Wam 2 el
WA (flux) 1 THE A=Eq AT9fad e 2|
afg g2 F1 G37%FA 25 cm? € Al 40 min
AT § 39 T g2 9o 3T (transfer)
e

Options:



¥ B
41652956120 4% 1077 Ns

B
41652956123, 0% 107 Ns

3
4les0as61zg 20X 1077 Ns

) 4
41652056125, 0-3X107 " Ns

Question Number : 22 Question Id : 41652914337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The graph shows how the magnification m
produced by a thin lens varies with image
distance . What is the focal length of the

lens used ?

m
A["777TTT T bt
¥ -
T !
1 1
«—a—s< b »
Options:

bZ

41652956125, 4€

S -]

418529568127,

41652956125 4

41552356129, ¢

Question Number : 22 Question Id : 41652914337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Wﬂﬁ@ﬂﬁn’@ﬂﬁh@%l ESGEs|

=1 TIFT T F B2
m
£
E """"""" A
o AT
i i
: i * )
«—a—+b >
Options:
b2

41652956125, 4€

41552356127,

41652958128 4

41652956129, €

Question Number : 23 Question Id : 41652914338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In a Young's double slit experiment, the

ratio of the slit’s width is 4: 1. The ratio of
the intensity of maxima to minima, close
to the central fringe on the screen, will be :
Options:
41652956130, 411

416525856131,

(V3+1)* :16

41552356132

715 .
416525956133, 2259

Question Number : 23 Question Id : 41652914338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



I & U= Tgferl wam # fee =51 e
FIE4: 1T BhHA WFEE Fa & e
ST T T 991 AdH TEH ded F
Options:

41652956130, 411

416525956121,

(V3+1)" :16

41652856132,

416525956133,

Question Number : 24 Question Id : 41652914339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A 2 mW laser operates at a wavelength of
500 nm. The number of photons that will

be emitted per second is:
[Given Planck’s constanth=6.6 x 10~ * Js,
speed of light c=3.0x 10% m/ 5]
Options:
15
41652956134 ° %10

16
41652956135, 1 <10

16
41652956136, 10X 10

16
41652956137, 2X10°°

Question Number : 24 Question Id : 41652914339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T 2 mW SIS T qeE 500 nm €1 THY
e 9t 9fd Hehve WIeH F1 He 2
[fem &, @i fAIdi® h=6.6 10" Js,
I 1 T c=3.0x 10° m/ 5]

Options:

15
41652956134, 2% 10



16
41652956135, 1% 10

16
41652956136, Lo X10

16
41652956137, 2% 10

Question Number : 25 Question Id : 41652914340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In Li* *, electron in first Bohr orbit is

excited to a level by a radiation of
wavelength A. When the ion gets deexcited
to the ground state in all possible ways
(including intermediate emissions), a total
of six spectral lines are observed. What is
the value of A ?

(Given : h=6.63x10"Js;
c=3x108ms~1)

Options:

41652956135 94 nm

41650956139, 108 nm

41650956140, 114 TM

41650956141 123 NM

Question Number : 25 Question Id : 41652914340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Lit + 35A H 39214 1 391 99H et Fal
Y\ FreE T fafeaor 9 v S Feq | It
F foo 91 €1 99 A8 AEAE A9 FAaH
Fell 3re o Qoft G9a T8 (Teadl SaasH]
FI faemat) 4 o & @ T4 6 TR @
T S § 1 A T HE 41 8 ?

(T & :h=663x10"34]s;

c=3x10 ms~ 1)

Options:

41652956135 94 nm



41650956139, 10-8 nm

416509561 40, 114 M

41650956141, 123 NM

Question Number : 26 Question Id : 41652914341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Two radioactive substances A and B have
decay constants SA and A respectively. At
t=10, a sample has the same number of the
two nuclei. The time taken for the ratio of
P 12
the number of nuclei to become l\ EJ wiill
be :
Options:

416525856142, L)X

41552356143, 2/\

2
41852956144, 1/2\

41852956145, 1/4A

Question Number : 26 Question Id : 41652914341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

g1 eyl yeif A 991 B & & (Hadies, 09,
SATIIAE | t=0 TR TF 999 | 9 o1 =i
1 e HE@A T | AT 1 @A F AT
[ljh 2§ o g9T 1 9 A

e

i

Options:

416852956142, 1/x

416525956143, 2/\

2
416525856144, 1/2)



41852956145, 1/4A

Question Number : 27 Question Id : 41652914342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The figure represents a voltage regulator
circuit using a Zener diode. The
breakdown voltage of the Zener diode is
6 V and the load resistance is, R} =4 ki
The series resistance of the circuit is
R;=1 kfl. If the battery voltage Vj varies
from 8 V to 16 V, what are the minimum

and maximum values of the current

through Zener diode ?
R;
> A
. =
I\-'FH =y xTT :_' R[.
Options:

41652956146, 0-5 MA; 6 mA

41652956147, 10 MA; 8o mA

41652956145, 0.5 mA; 8.5 mA

41650956149 | MA8.5mA

Question Number : 27 Question Id : 41652914342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



o § SR =[ErE | 9 g diees fAIEm
TfTqY feaman T € | S SETE i Y dieed]
6 V 71 &€ Ufalid R, =4kQ B 1 §oit afedy
R,=1k0 T ARFAF fawa v, 8VH1I6V
& 919 Il € df SR STAE i 91 & <A
o AT 9= F 8 2

R;
="y

AN
-
o

VE e rere Far.

Options:
41652056146, 0-5mA; 6 mA

41652956147, 1o MA; 8o mA

41652958148 V-5 mA; 85 mA

41650956149 1 MA;8.5mA

Question Number : 28 Question Id : 41652914343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The correct figure that shows,
schematically, the wave pattern produced
by superposition of two waves of

frequencies 9 Hz and 11 Hz, is:

Options:
y s
e //"f. , f_,.--""- .
[] /-f \.\H - .--___,.- '\.\H i‘(S}
41652956150, 1 2
y F
T N #
0+ \\A AT A +(s)
AT A \\ AN AN

41652956151, 1 2



¥

0 — 1 t(s)
41652956152, B 1 - 2

ys

K10
41552956153, 1 2

Question Number : 28 Question Id : 41652914343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
11 Hz 9919 Hz 21197d i &1 a1 o ARy
=1 7 1 31 53 ArEmes 9l 3 w8l g9

¥
Options:
y .
.""«.\ z"-.- - f/.-
OF——%- =K »t(s)
o e oy ""m.___
41652956150, 1 2
y *
b ™, __,-'" b ,-";’ B
U ‘:Iq.ll '-,.J" } v i l (S}
RN R‘H. AT
41652956151, 1 2
LR
0 > t(s)
41652956152, 1 2
yn
// -ﬂ""\ // -.x"x\ ;
0 o - . »t(s)
41652956153, 1 2

Question Number : 29 Question Id : 41652914344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



In an experiment, brass and steel wires of
length 1 m each with areas of cross section

1 mm?2

are used. The wires are connected
in series and one end of the combined wire
is connected to a rigid support and other
end is subjected to elongation. The stress
required to produce a net elongation of
0.2 mm is,
[ Given, the Young's Modulus for steel and
brass are, respectively, 120 X 107 N/ m>and
60 x 107 N/ m?]

Options:

41652956154, 0.2%10°N/m?

_ 6 2
41652956155, +0X 10 N/m

6 2
41652956156, 1-2X 107 N/m

41652056157, 1.8%x10°N/m?

Question Number : 29 Question Id : 41652914344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T WAF H, Uiad a9 Tie & o1 a6l &1 WA
e T © 590y & a=@E 1 m ad
FATE FZ F &FFA 1 mm? €1 3 I H
HuiisE H Sed € a9 A9 IR & T L H
ge T ¥ STed § Ud g THL &1 diEn |
g1 02 mm F Fd 9§ F fod gfqaa F1 94
2R :

(Tean &, =ia a9 diae < F7 Jedredl o,
AT, 120 X107 N/m? 991 60x 10” N/m?
g)

Options:

41652956154, 02X 10%N/m?

6 2
41652956155, +0X10° N/m

& 2
41652056156, 1-2X 107 N/m



41652956157, 1-8%10°N/m?

Question Number : 30 Question Id : 41652914345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A cubical block of side 0.5 m floats on water
with 30% of its volume under water. What
is the maximum weight that can be put on
the block without fully submerging it

under water ?
[Take, density of water = 10° kg/ m?]

Options:

41650956158, 0-1kg

41650056159, O/ 2 K8

.3 k
41650058160, 03 kg

41652956161, P4 Kg

Question Number : 30 Question Id : 41652914345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

0.5 m YT ST 1 Tah TR T2H IH H
T & FIHY S9F130% 2T9aE U H 24
TH TEF F TR ATIFHTH FHTA 91, [2F F
o1 o T2 A, TEn S Aokl § 2

[fe € : 9t 1 =9 = 10° kg/m’]

Options:

41650956158, 0-1kg

41650056159, O/ 2 K8

.3 k
41650058160, 03k

41652056161, P04 kg
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Question Number : 31 Question Id : 41652914346 Question Type:

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

The major product Y’ in the following
reaction is :

R NaOCl, , () SOCl, |

(ii) aniline

®)
Options:
NH
2 0
;;:;_/
%
b
Ph
41652956162,
\\.J ,“"-' _.-f’ff.. ]Jh
9)
41652956163
O
HN-~  “Ph

41652856164,

2

Online
Mandatory
30

30

120

Yes

No

1
416529445
Yes

MCQ Option Shuffling : Yes Display Question Number : Yes



NHy

416525956165, Ph

Question Number : 31 Question Id : 41652914346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

= arfufrn & g@ sEg Y’ ® -
Ph. _CHj; .
NaOCl_ (i) SOCl, "
[ (ii) Tfe=
o)
Options:
NH
2 0
o
™,
.
Ph
4152955162,
N Ph
‘ )
41552955163,
O
HN-~  “Ph
41552955164, '
NH»

418529568165,



Question Number : 32 Question Id : 41652914347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of these factors does not govern the
stability of a conformation in acyclic
compounds ?

Options:

41652956166, Steric interactions

41652056167, < Ngle strain

416500956165 lorsional strain

41652956169, Electrostatic forces of interaction

Question Number : 32 Question Id : 41652914347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
3= AT H 299 FF 91 F1a G899 5
e o e @i e & ?

Options:

Efawdt =t

416525956166,

41552356167, 3

41552356168, : 3

A 1 TR 9= =9

41852956169,

Question Number : 33 Question Id : 41652914348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In chromatography, which of the following,

statements is INCORRECT for Rf?
Options:
Higher Rf- value means higher

41652056170, adsorption.

Rf value depends on the type of

41652056171, Chromatography.



The value of Rfcan not be more than

416524956172 ONC

R‘.ir value is dependent on the mobile

41650956173, Phase.

Question Number : 33 Question Id : 41652914348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

FIEETITE H, R, F fod Frea feri § G wH =
Teld & 7 '
Options:

41652956170 =) quﬁ@mf%g YR AT |

Rfaﬂnﬂaﬁfrémm%:mmﬁah

41652956171, P E

R, %1 9H 1 Y 1fys 781 2 w1 &

416520956172, 4

R, 1 | Tifaefrer yrareen o f2

SEesseuins (€

Question Number : 34 Question Id : 41652914349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Number of stereo centers present in linear

and cyclic structures of glucose are
respectively :
Options:

41652056174, +&4

41652956175, +&5

416525956176, > &4

41652856177, 5&5

Question Number : 34 Question Id : 41652914349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



TAhISl & e a9l kg STE1s 1 3ufterd
Fafam =i =1 g0 F99: 2l
Options:

41 4
41652956174

41652856175, 4TS

416525956176, > a4

41652956177, O G913

Question Number : 35 Question Id : 41652914350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The correct match between Item - I and

ltem - 1l1s:
Item - I Item - II
(a)| Fligh density |y | poroyide catalyst
polythene

Condensation at high

(b)| Polyacrylonitrile|(II) temperature & pressure

(c)| Novolac (III)] Liegler-MNatta Catalyst
(d)| Nylon & (IV) Acid or base catalyst
Options:

(@)= (IV), (b)—=(I), (c)—(I)

41652956175, (d)— (1)

(@)= (1), (b)—=(1V), (c)—=(I),

41652956179, (d)— (1)

(a) = (), (b)— (D), (c)— (1),

41652956180, (d)—(1V)

(a) = (), (b)—=(1), (c)—(IV),

41652056151, (d)— (M)

Question Number : 35 Question Id : 41652914350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



U2 - [ 991 U - 11 & o< Tl gl ¢ :

g =0 Hg = 11
(a)| 3== w=eg gty | (1) | weEmEs 3=

(b) | wrefrufherimggie |(11) | 3= @9 991 59 W Hu

(c) | TETe+ (11| Femrer=srar 3o
(d) | /@™ 6 (IV)| & HEa1 &S IRH
Options:

(@)= (IV), (b)—=(II), (c)—=(D),
41652956178, (4)— ()

(a) = (II), (b)—=(IV), (c)—=(I),
41652056179, (d)— ()

(a) = (HI), (b)—= (1), (c)— (1),

41652956180, (d)—(1V)

(a)—= (), (b)—=(I), (c)—(IV),

41652956151, (d)— (1)

Question Number : 36 Question Id : 41652914351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Compound A(CyH,,0) shows positive
iodoform test. Oxidation of A with
KMnO,/KOH gives acid B(CgH_.O,).
Anhydride of B is used for the preparation
of phenolphthalein. Compound A is :
Options:

o Tl

416525956182,

416525956183, O



Cfpﬁx1]|3

4168529568184,

O

|
_~CHr—C—H

“CHj
41652956185,

Question Number : 36 Question Id : 41652914351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AR A(CyH,,O) TFRIHF AFSIEH Tam
yef¥id F% &1 KMnO,/KOH & H1g A F
AR T 377 B(C,H, O,) ST €| BF

TARTEEIEE ol FATCHAE o] a1 o ford 9m
FAE! AFHF AT
Options:
_-CHj
O.
416529561852,

416525956183, O

o “tH;

41652856184,



O

|
~CHy—C—H

“CHa
41852956185,

Question Number : 37 Question Id : 41652914352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major product Y’ in the following

reaction is :

Cl _—~~_ FtONa HBr
> X >y
Heat
Options:
41652956186,
HO.- J\
i
41652956187
. |
r—
41652956188, |
Br—
41652956189,

Question Number : 37 Question Id : 41652914352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



= afyF i =@ e Y § -

€l

~ .~~~ EtONa _ X HBr

HEHT &

Options:

416525956186,

416525956187, ‘

41552956185,

Br—"
41552955189,

Question Number : 38 Question Id : 41652914353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product obtained in the given

reaction is :

£ ; AlC]
CH3. _=~_-0O- CHy CHy - CH CH3y =2, product

J

1

Options:

41652856130,



H3C. @ O ~CH 2@_,.;:] I:"""""CI I""{' Hj
41652956191,

HgC. O

41652956192, CHj

H3L\©J_.D g Iz”"cHz ~CH-—CH,
416529561493,

Question Number : 38 Question Id : 41652914353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
&1 T AR | 9 I I

AICl;

{:H:i PO C-HE"”CHE CH -f-‘-Hj.

A

Cl
Options:
CHsj.

CH3. = O
41652956130. "ﬁ

H3C.. @-*"D“m C’.HQ-*"CII'?"""-'-"CI |.e*"f-_H3
41652956191,

gl O
41652956192, CHj

HBLO.,..D “~CHj ACHa~ pp— Iy
416552956193,

Question Number : 39 Question Id : 41652914354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The increasing order of nucleophilicity of
the following nucleophiles is:
(@) CH,CO5
() CH,S05
=
d)  on
Options:

41652056194, (D)< (@) <(d) < (@)

41652056195, (@) <(d)<(c)<(b)

41652956196, () <(c) < (@) <(d)

41652956197, (@) <(a) <(c) < (b)

Question Number : 39 Question Id : 41652914354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

= rfyrafma & ifvafrar 1 sed #9

g

=
(a) CH,CO;
(b) H,O

(€©) CH3S05

(d)  OH
Options:

41650956194 (D) <(0)<(d) < (@)

41650956105, (@) <(d)<(c) < (b)

41650956196, (P) <(c) < (@) <(d)

41650956197, (@) <(a) <(c)<(b)

Question Number : 40 Question Id : 41652914355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Which of the following is NOT a correct
method of the preparation of benzylamine

from cyanobenzene 7

Options:
1652956198, ()  HC/H0 (i) NaBH,
41652956199, () LiAIH, (i) HO"
H,/Ni
41652956200 2
i) SnCl, + HCl(gas i) NaBH
41652056201, M o2 (as) (i) NaBH,

Question Number : 40 Question Id : 41652914355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1= 4 9 3 A 9 SfSereH e % a9H
=1 Hel T el 2
Options:
41652956108, @) HC/H0 (i) NaBH,
41652956199, () LiAlH, (i) HO"
H,/Ni
41652956200, 2
i) SnCl, + HCl(gas i) NaBH
s1652056201. M O (as) (i) NaBH,

Question Number : 41 Question Id : 41652914356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The correct order of the first ionization
enthalpies is:

Options:

Ti<Mn<Ni<Zn
41552955202,

41652956203, Mn<Ti<Zn<Ni

41652956204, 1< Mn<Zn<Ni

41652956205, LN < Ni<Mn<Ti



Question Number : 41 Question Id : 41652914356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
TIH T T I EE FHE

Options:

Ti=Mn<Ni<Zn
41552956202,

41652056203 Mn<Ti<Zn <Ni

41652956204, 11<Mn<Zn<Ni

41652956205, LN <Ni<Mn<Ti

Question Number : 42 Question Id : 41652914357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct statement is :

Options:

41652956206, aniline is a froth stabilizer.

sodium cyanide cannot be used in the

41652956207, Metallurgy of silver.

41652956205, zincite is a carbonate ore.
zone refining process is used for the

41652956209 refining of titanium.

Question Number : 42 Question Id : 41652914357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T FYA T

Options:

41652956206 ERIERCEEESRIE CE Y
Hifea FraTEE % 3w e (F)

Ale52956207, F IGHEH H T FX T ¥

41652956208, THHEE U FEE IFF |



[ 9T YehH 2ESaH & 9
F fae gge B 2

416525956209,

Question Number : 43 Question Id : 41652914358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct statements among (a) to (d)

are :

(a) saline hydrides produce H, gas when
reacted with H,O.

(b) reaction of LiAIH, with BF; leads to
B,H,.

(c) PH; and CH, are electron - rich
and electron - precise hydrides,

respectively.
(d) HF and CH, are called as molecular
hydrides.
Options:

41652956210, (€) and (d) only.

41650056211 (@) (c)and (d) only.

41652956212, (@ (P) and () only.

41652956213, (@) (b), (c) and (d).

Question Number : 43 Question Id : 41652914358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(a) T (d) F &=, T FIAE :

(a) AT BESESH H,O F 919 sfufw
FHTWH, THW 2

(b) BE, %9 LIAIH, F1 f4fFan 9 B,H,
EaGI

(c) PH, a9 CH, A TelagH-Hrg a4
TARMA-TYS SRR & |

(d) HF @1 CH, =nfoas 2Eere Fe
gl

Options:



41652958210, (©) T (d) A

1652956211 (@ () T (d) Wi

41650056212, (@) (b) T () HA

(), (), (O T (d)

415525856213

Question Number : 44 Question Id : 41652914359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A hydrated solid Xon heating initially gives
a monohydrated compound Y. Y upon
heating above 373 K leads to an anhydrous
white powder Z. X and Z, respectively,
are :

Options:
41650956214, Baking soda and soda ash.
Washing soda and dead burnt

laster.
41652056215, P

41652956216, Washing soda and soda ash.

41652956217, Dakingsoda and dead burnt plaster.

Question Number : 44 Question Id : 41652914359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
& Fednad 3 X TH 3 WA § U
Uhel-Serdrtad ATH Y T g1 373K F IR
Y 1 TH A T UF eiel The T8et Z faerd
£ X A1 Z HE: B

Options:

41652956214, fehT1 W71 T |ST U

41650056015, MU HIST 1 YUETH TR

4le5o0cEn1g, WRCT WIS a1 Qe TN



41552356217, el

Question Number : 45 Question Id : 41652914360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The noble gas that does NOT occur in the
atmosphere is :

Options:

41652056218, i€

416525956219,
416525956220,

416525956221, Ra

Question Number : 45 Question Id : 41652914360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
9% I T o agHed | e 7@ og
2

Options:

416525956215,

41552356219,
41E52856220,

418529568221, Ra

Question Number : 46 Question Id : 41652914361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The number of pentagons in C_, and
&0

trigons (triangles) in white phosphorus,

respectively, are :

Options:

41652056200 12and 4

41652956223, 12and 3

41652956224, 20 and 3



41852956225, 20 and 4

Question Number : 46 Question Id : 41652914361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Cyo § T9YS a1 e FHERRY H HYsi
(fo=hoi ) =t T wEe: ¥

Options:

41652956200, 120914

41552856223, 12 9ma

416529562024, 20 T3

) /
41552356225, Rl

Question Number : 47 Question Id : 41652914362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The highest possible oxidation states of
uranium and plutonium, respectively,
are :

Options:

41652956206, ¢ and6

41652056227 0 and?

41652056225, O and 4

41652956209, dand 6

Question Number : 47 Question Id : 41652914362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

IFFH a9 w2IfgE w1 =9 9F9d
ST ST FE:

Options:

41652956226, 7q6

41652956227, 6THATY



41552356228, 614

41652956229, A6

Question Number : 48 Question Id : 41652914363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The crystal field stabilization energy (CFSE)
of [Fe(H,0)/]Cl, and K,[NiCl],

respectively, are :

Options:

41650958230 004, and —0.84,

41650056031 V44, and —0.84,
—24A and —1.2A

41652956232, o 1
- TL : — 2

41850056253, 044, and —1.2A

Question Number : 48 Question Id : 41652914363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
[Fe(H,0)JCL, 71 K,[NiCl,] =i foeeet &=
T S (HUEUEE ) FE: E

Options:

digssesEssn — PR T =08
Algsoaseosy.  UAA, T —0.84,
4165005605 244, T —1.2A,
4lesooceozs, A4, T 124,

Question Number : 49 Question Id : 41652914364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The INCORRECT statement is:
Options:
the spin-only magnetic moment of

; 5
41650056254, LNHNHS) (H0),]7" is 2.83 BM.



the spin-only magnetic moments of
[Fe(H0)e]** and [Cr(H,0)g]*" are

41650956235, nearly similar.

the color of [CoCI(NH,)-]?* is violet
41652056038, A5 it absorbs the yellow light.
the gemstone, ruby, has C r’* ions

occupying the octahedral sites of

41652956237, beryl

Question Number : 49 Question Id : 41652914364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T A T

Options:
[Ni(NH3)4(H,0),]>" =1 f&a=Hm=-

41650956034, SrAra ST 2.83 BM Z1

[Fe(H,0),|2* @41 [Cr(H,0) 2+ F
o A T UF Sl

41852956538, Zl

w4 [CoCI(NH 5] * Hre wehrer wifod
41650056055, PN © T SHE T ST 8 S €|

SHEE, ', § Cr3t #EA 9 g 9
A & A=FAFRT T § 3970 T2l
Tl

41552356237,

Question Number : 50 Question Id : 41652914365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Air pollution that occurs in sunlight is :

Options:

4165095603g, 2cid rain

41652956239, 198

reducing smog,
41552955240,



416529568541 oxidising smog

Question Number : 50 Question Id : 41652914365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

& 19 FH 1 A g H FA, 2
Options:

41652956238, SR =i

st

41652956239, T

diaEsesasy AT T (YRpE)

| SR e

418529568241

Question Number : 51 Question Id : 41652914366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The minimum amount of O,(g) consumed

per gram of reactant is for the reaction :

(Given atomic mass : Fe=56, O =16,
Mg =24, P=31, C=12, H=1)
Options:

41650056240 T Fe(s) 43 0y(g) =2 FeyOx(s)

AlEEsesenas 2 MB(8)+0,(g) -2 MgOls)

41552356244, P‘l{s] +2 C'E{g] HP'JDIU{S}

s16snanangs CaHls(8) +50,(8) =3 CO,(g) +4 HO()

Question Number : 51 Question Id : 41652914366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AfFTe = Ffaumd & fw O,(g) F erHare
seqag 9E =1 °§ 9 e eyt & fou
2t ?

(fe=m T/ qHT] 2599 : Fe=56, O=16,
Mg=24, P=31,C=12,H=1)

Options:



41652956240+ Fe(s) +3 0y(g) =2 FeyO5(s)

Al6Es9sEndg. 2 MB(8)+0,(g)—2 MgOis)

41650056044 [4(8) T3 Oa(g) = PyOqq(s)

41R52955245 C?!-HP.(!{] + ED;E(H}._} 3CD2(EJ +4 H.."-:Dm

Question Number : 52 Question Id : 41652914367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Points I, II and III in the following plot

respectively correspond to

{Vmp : most probable velocity)

Distribution function, f(v) —s

Options:
Vinp Of Hy GO0 K); V., of N, (300 K);

Jissenn Ytk (WG

Vyup 0f O, (400K); V,, - of N, (300K);
416852956247, Vinp Of H (300K)

Vinp 0 Np 300 K); V ., of O, (400K);
41652056245, Vmp O Ha (300K)

Vinp 0f Ny (B00K); V., of Hp (300 K);
41652856249 Vinp of O (100 K)

Question Number : 52 Question Id : 41652914367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

et H g 1, 11 991 111 A9 399 T=i-=q
g,

(Vi : ST =)

forawr wets, fv) —

o0 —

Options:

H, %1 V,,, (300 K); N, %1V,

300K); O, F V(400K
41652956245, ) O 3T Vi ( )

Dz k. vmp (400 K); N}'_‘ Eal vmp

300 K); H, F1V__ (300 K
41652956247 ( )i Hy mp{ )

N, =T Vmp (300 K); O, &1 Vmp
Aicesosenag GO0 KLH, ¥V, GO0 K)

N, %1V, (300 K); H, FTV

300 K): O,V (400 K
41652956249, ( )i Oy mp ( )

Question Number : 53 Question Id : 41652914368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The ratio of the shortest wavelength of two

spectral series of hydrogen spectrum is
found to be about 9. The spectral series

are :

Options:

418529568250,

41652856251,

Balmer and Brackett

Lyman and Paschen



41650956252 Paschen and Pfund

41650956253, Brackett and Pfund

Question Number : 53 Question Id : 41652914368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

BITSISH TI9ed & o SyaeHl 4f0El % egaH
TS 1 ST ST 9 W | S
forT ¥ -

Options:

41650956250, AL 441 HFHe

41852956251, i

41652956252, Wea1 AA1 S

418529568255

Question Number : 54 Question Id : 41652914369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The difference between AH and AU
(AH— AU), when the combustion of one
mole of heptane(l) is carried out at a
temperature T, is equal to :

Options:

418529568254, ERE

41852956255, 3RT

41652056255, — 4RT

41652956257, 3RT

Question Number : 54 Question Id : 41652914369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
74 U Hid 22 (1) F 384 T A W o1 st
&1 AH 991 AU &1 =1, (AH - AU), e &
L B

Options:



41552356254, ERT

41652956255, O RT

41652056256, — 4 RT

416852956257, 3RT

Question Number : 55 Question Id : 41652914370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
1 g of a non-volatile non-electrolyte solute
is dissolved in 100 g of two different
solvents A and B whose ebullioscopic
constants are in the ratioof 1: 5. The ratio
of the elevation in their boiling points,
ATy (A)
—ﬁ.lﬂh (B) * is :
Options:

41652956258, 1+ 0-2

41652956259, 2+ 1
41652956280, 1:9

41652956261, 10:1

Question Number : 55 Question Id : 41652914370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

W4 U AT Aga-STI F 1 g B A
ST faamasl (A 991 B), e
TfaErEas frt® 1.5 o9a § € F
100 g H H1eT S T 3 S| & 3957 H

AT, (A)
ATy (B) ’ CEE
Options:

41652956258, 1+ 0-2

41652956259, 20+ 1



41652956280, 1:9

41652956261, 10:1

Question Number : 56 Question Id : 41652914371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

For the reaction,

250,(g) +O,(g) = 2 SO4(g),
AH= —57.2 k] mol ~!and
K. =17 x10%,

=
Which of the following statement is
INCORRECT ?

Options:

The equilibrium constant decreases

41650956252 Aas the temperature increases.

The equilibrium will shift in forward
41659656263, direction as the pressure increases.
The addition of inert gas at constant

volume will not affect the equilibrium

41652856264, constant.

The equilibrium constant is large
suggestive of reaction going to
completion and so no catalyst is

41652956265, required.

Question Number : 56 Question Id : 41652914371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

i 2 SO,(g) +Oa(g) = 250(g) F femm
AH= —57.2 k] mol ~ ! &=

=17 % 1o

=1 5 @ F17 W FoA T £ 2

Options:

41552856262, WL % = %l



oo e W, fafters 9 % faem «
416509560 AT Tetis wifed et 2rm |

41652956265, Tl €

Question Number : 57 Question Id : 41652914372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The pH of a 0.02 M NH,(I solution will be
[given K, (NH4OH)=10">and log 2=0.301]

Options:
41652956266, 4.60

416525956267, 2.65

41652056265, 209

418529568269, 4.35

Question Number : 57 Question Id : 41652914372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
0.02 M NH,Cl fa@== &1 pH 2 : [famn 7=
2 : K, (NH4OH) =105 7 log 2=0.301]

Options:
41652956266, 4.60

41852956267, 2.65
41B85295E2E8. 5.35

41652956269, 435

Question Number : 58 Question Id : 41652914373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Which one of the following graphs between

molar conductivity(A ) versus ,/C is

correct ?
Options:
I S
\\\ “f
*"1111 i 4/‘ N .
5,
w"E =
41EE295E27 0,
N
im \‘ \
S
0%
h¥
41eEZ295E27 1. ﬁ
=
IR
A Y
.
\‘\\C\?\\
JT e
41652956272,
ot
\
', \\‘*\\«T/
._\\ ~’~?p
R 4
416EZ295E27 3, C

Question Number : 58 Question Id : 41652914373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AT Ferahal (A ) T4 JC o == =4 qT6i H
T FH W HE 22

Options:



*"1'-111 % ‘\ffi'}

4
_./\\
\-"E_"
4152956270,
TN
A \\
4
0%
b
41852956271, C
%
S
O\
A x\
R‘\»::H\
JC ey
41652958272,
x\.F_
T\
Am %
NS
1“'1_ l‘\\{}
41652956273, JE

Question Number : 59 Question Id : 41652914374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

For the reaction of H, with I,, the rate
constant is 2.5x 104 dm* mol " !s~1 at
327 °C and 1.0 dm® mol~1s~1 at 527 °C.
The activation energy for the reaction, in
k] mol ~1is:

R=8.314] K 'mol ™1

Options:



41E52856274, 59

416525956275, 72

41652956276, 190

41652056277, 166

Question Number : 59 Question Id : 41652914374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
L, % #19 H, % sAf4fwan & fod =2 faais
327 °C T 25x107* dm® mol "1 s~ ! d=m
527 °C T 1.0 dm3 mol - 1s~1 T sxfafsran
aﬂWW{k} mol Iﬁj?@]‘ﬁ:
R=8314JK Tmol™ 1)

Options:

416525956274, 59

41652956275, /2
41652956276, 190

41652056277, 166

Question Number : 60 Question Id : 41652914375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct option among the following

15 :
Options:
Addition of alum to water makes it
41652056078, unfit for drinking,

Colloidal medicines are more

effective because they have small

41652958279, Surface area.

Colloidal particles in lyophobic sols
can be precipitated by

41650056080, Clectrophoresis.



Brownian motion in colloidal
solution is faster if the viscosity of the

Sy solution is very high.

Question Number : 60 Question Id : 41652914375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
= & | wér fasen 2
Options:
aHl H fRefedl faam 9 =98 (9H) 9=
41652956275, F IATH B S

415523856279, ! _Efl_(ﬂ%I

FATRPT G § FHIeAEel F 954 H0
41650056050 THCH BRI STasTua o < 9 €|

FIaEel faeaa 5 af faeaq =1 e

IEd AT & A FSHIA T At el

41652956281 2
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Question Number : 61 Question Id : 41652914376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Let f(x)=log.(sinx), (0 < x < ) and
g(x) =sin e ™), (x=0). Ifaisa positive
real number such that a=(fog)'(«) and
b=(fog)(ct), then:

Options:

:
41652956252, 2« —ba—a=0

ekt o
41652956253, aa”+bata=0

2 T 2
41652056254, A0 tba—a= —2a

i’ S S
41652056285, e~ —ba—a=1

Question Number : 61 Question Id : 41652914376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AT flx) =log.(sinx), (0 < x < ) AHT
g(x)=sin"l(e %), (x=0) T 1 3% UF HF
qrfa® & o % A a=(fog) () 91
b= (fog)(c) 7, T :

Options:

"
41652056282 A" —ba—a=0

"
41652056253, aa”+bata=0

2 et 2
41652056254, A0~ tba—a=—2a

Ty S
41652956285, aa”—ba—a=1

Question Number : 62 Question Id : 41652914377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If z and w are two complex numbers such

that I|zw| =1 and arg(z)—arg(w)=

¥

SIER

then :
Options:

416529562586, W= —1

41552356287, V'E



FipeaseEaan AT

= 4=
ZW =

I‘J.
416525956289, \"Ir:
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Correct Marks: 4 Wrong Marks: 1
afe z 991 w S UH gimy g=m  fw

, Tl

e

| znr| = 1 941 arg(z) —arg(w)=

Options:

41652956286, W= —1

__If" 1 i
L | =
41652956287, V2
FipeaseEaan AT
-E =i}
o —
I‘J.
41652956289, V2

Question Number : 63 Question Id : 41652914378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The number of real roots of the equation

5 4

2% 1‘= 2¥(2% — 2) is:

Options:
41652956290, &

416525956291,

I~

41E5289562592,

41652956293, O

Question Number : 63 Question Id : 41652914378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
qHIHTOT 5 4 [2F 1‘ = 2%(2* - 2) &

ATEfe el 1 HEd ©



Options:
41652956290, 4

415528562591,

I~

41652856232,

41652956293, O

Question Number : 64 Question Id : 41652914379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

The sum of the real roots of the equation

X B 1
2 3x x—-3 |=0, isequalto:
3 2x x+2

Options:

41650956294 2

41652956295, U

41552356236,

416528562597,

Question Number : 64 Question Id : 41652914379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

x b 1

THIFH I 2 3 x—3 |=0,%
3 2x x + 2

Options:

41652956294, 2

418529568295, 0

4155259562596,

41852956297,



Question Number : 65 Question Id : 41652914380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let A be a real number for which the system
of linear equations
x+y+z=6
dx +Ay—Az=A—2
3x+2y—4z= -5
has infinitely many solutions. Then A is a

root of the quadratic equation :

Options:

2 =
41652056298, A F3A—4=0

41650956299, A —3A—4=0

i S
41652956300, N HA—6=0

41650956301, N ~A—6=0

Question Number : 65 Question Id : 41652914380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1
T A UF UH anatas ge g s o
xt+y+z=6
dr+ Ay —hz=h—-2
3x+2y—4z=->5
F o g &1 a1 A T fama aefiem &

TF A E e :
Options:
'j —
41652056298, A F3A—4=0

41652056209, A —3A—4=0

., T <
41652056300, N tA—6=0

B :
41652056301, N A0S 0
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Correct Marks: 4 WrongMarks: 1



Suppose that 20 pillars of the same height
have been erected along the boundary of a
circular stadium. If the top of each pillar
has been connected by beams with the top
of all its non-adjacent pillars, then the total
number of beams is :

Options:

41652956302, 17U

416525956303, 190

41652056304, 180

41852956305, 210

Question Number : 66 Question Id : 41652914381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
¥ 20 T TS oy T F | Al TEE ' F
fomaT =l gl s15er weHl &+ foradl 9w
(beatna}ﬁlﬂﬁ@ﬂm%. ﬁﬁaﬁﬁfﬁﬁﬁ
H@T%

Options:

41652956302, 17U

41852956303, 190

41652956304, 180

41652956305, 210
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Correct Marks: 4 WrongMarks: 1
The smallest natural number n, such that
the coefficient of x in the expansion of

(#1%)
Options:

416525956206, 23



41652356207, 38

41652956308, OO

41652956309, 2O

Question Number : 67 Question Id : 41652914382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T8 <Aq9 WIFd G n, o5 fau
'l 1
1
lle-—?
\ & ok /

FHARH x FNF "C, 7, T

Options:

416525956206, 23

41E52856207.

41652956308, 0

4165259562309, 8

Question Number : 68 Question Id : 41652914383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let a, b and c be in G.P. with common ratio

r, whereaz0and 0<r = —- If 33, 7band

1
2
15c are the first three terms of an A.P., then
the 4 term of this A.P. is

Options:
41652956310,

41652956311,
41652056312, O
41652956313, DA

Question Number : 68 Question Id : 41652914383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

H T a, b @91 ¢ TUIeR 42 § & o greergum
- i :

re S@laz0 AT0<r < ;%Iﬂfﬁ'iﬁa,?b

&1 15¢ U T 481 % 9949 19 92 &, 9159

eI Al < =g U F

Options:
2
—d
41652956310, O
a
41652956211,
7
— d

41652956312, O

41652956313, DA
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Correct Marks: 4 Wrong Marks: 1
17423 . 12423 43%

1+ 2 1+2+ 3

Thesum 1 +

14224 3P4 .4 157
T2k ok 15

—-%H+2+3+m+1ﬂ

is equal to :

Options:

416523856214, 620

415525856215, 660

41652056316, 1240

41652956317, 1560
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Correct Marks: 4 Wrong Marks: 1
15423 PRyodyy

INTFHA 1 + + e
1+2 1+2+ 3

1?4+ 234 P4 L+ 157
1+ 2+ 34+ ...+ 15

T E

- %{1 +2+3+..+15)



Options:

2
41852956214, 620

418529568315, 660

41652056316, 1240

416525956217, 1860
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

2
X —ar+b

If lim =92, thema+bis
x—1 X 1

equal to :

Options:

41652956218, 1

41652956319, 2

41652956320, 4

|

416525956321,
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Correct Marks: 4 WrongMarks: 1

2

g lim .3 %+ h =5 %ﬁ?'l’hﬁ-bm
x—1 r— 3

g

Options:

41652956318, 1

41652956319, 2

41652956320, 4

|

41E528956321.

Question Number : 71 Question Id : 41652914386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Let Ay, 8y, 8y s be an A.P. with a.= 2. Then
the common difference of this A.P., which

maximises the product a; a, as, is :

Options:
2
41652956322, O
B
41652956323, O
6
41652956324, O
3
n
41652956325, <

Question Number : 71 Question Id : 41652914386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

Alay, ay, a8y, eee U T ﬁ%ﬁﬂﬁaffz
€| 59 THIGE FE1 1 98 WESHT 5 IR
a, a‘laS?r'?[Gﬁﬁﬂﬁm%,%:

Options:
2
41652956322, O
B
41652956323, O
6
41652956324, O
3
n
41652956325, <
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



A spherical iron ball of radius 10 cm is
coated with a layer of ice of uniform
thickness that melts ata rate of 50 cm?/ min.
When the thickness of the ice is 5 cm, then
the rate at which the thickness (in cm/ min)
of the ice decreases, is :

Options:

1
41652056326, 0T

2o

41852956327,

41552356328,

41852956329,

Question Number : 72 Question Id : 41652914387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

10 T =21 =1 F12 & U TMerhn 12 % =96
AR WA 2T FT 5% 1 78 FelE T 8, 71 50
o7 T/ fae 1 s 9 e Wi 8| = % =it
HI2TE 5 Ul €, 79 9% I HI2ME & T2H Hi X
(ﬁ"ﬂfﬁ’-{a T, 2

Options:
1
41652956306, 0T
b
41652956327,
1
18
41652956328,
1

41652956329, 0T
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Correct Marks: 4 WrongMarks: 1
x

xES

If the tangent to the curve y =

xeR, (x 2x+3), ata point (o, B) = (0, 0)
on it is parallel to the line 2x+ 6y —11=0,

then :
Options:

b + 28| = 19
41652956330

2a + 6p| = 11
41652956321,

|Emt I 2!:§| gy
41652956332,

|20 + 6P| = 19
41652956333,
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Correct Marks: 4 WrongMarks: 1

e ah y=—— ,xeR, (x£3) F
| 2.3

x
T 495 (o B) = (0, 0) T Hi= 75 29 I,
@ 20+ 6y —11=0 F TAR &, @ :

Options:

[pa + 28| = 19
41652956330.

2c + 6B = 11
41652956331,

|Emt I 2!:’1| =9
41652956352,

20 + 6P| = 19
41652956333,
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Correct Marks: 4 Wrong Marks: 1

2 2 :
If _[:::59 *dx = g(x)e* + c,wherecisa
constantofintegration, then g( — 1) is equal
to :

Options:



k2 |

41652956334,
41652956335, 1
*
41652956336, 2
41652956337, |
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Correct Marks: 4 WrongMarks: 1
afg _[150 Ydr = gix)e ™ + ¢ & TcTH
THIFEE 9L E, @ g(—1) T E :

Options:
5
)
41652956334, -
41652956335, 1
1
41652956336, 2
41652956337, |
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Correct Marks: 4 Wrong Marks: 1
. B 4/ .
The integral ~sec’* x cosec’x dx is
7%

equal to :

Options:

415523563358,

41852956359,

41652956240, 2% — 37



5/
7B &
416525956241, 3 >

Question Number : 75 Question Id : 41652914390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct MarkS' 4 WrongMarks: 1

HATERA J;r f-}c-c xcoqcc 1:11 ET{[EII%

Options:

375 — 3/5
41652956338, -

355 _ 35
4165249553549, S
41852956340, O ° — 87

% ‘
41652956341 3 3

Question Number : 76 Question Id : 41652914391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The area (in sq. units) of the region bounded

, in the

by the curves y=2%and y =

first quadrant is :

Options:
3
log.2 + —
41652956342, 2
3 1
5 9
41652056343, 2  108e2
1
>
41652956344, <
3
41652956345, 2
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Correct Marks: 4 Wrong Marks: 1



Ty =25 T y = |x+1| B WA =gt |
Iftas 93 F AAF (T o 6) B

Options:
3
log.2 + —
41652956342, 2
3 1
> >
41652956343, 2 108e2
1
5
41652956344, -
3
41652956345, 2

Question Number : 77 Question Id : 41652914392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Lety=y(x) be the solution of the differential

: dy 2
equation, —— + ylanx = 2x + x"tanx,
dx
i Y
o S : 2 .
L 2t ) such thaty(0)=1. Then:
Options:
- i | " )
Wa) ¥ 3)= 1
=S \ 4
4152956246,
.r_T~, i L _TE
y| 7|+ vl P T
41652956347, -7 b 4 =
AT 3 TI'" =
y[1| 14 g T
41652956348, s /
. i — i X —
yrt'_w [ Hi i | — A2
4 ) 4
415529563249,
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HAT y=y(x), SATHA THFH
»

— + ytanx = 2x + x
d-,x

S

zta_nxr

1 safF y(0)=1 & F 7 2|

m|,]

i
Options:
I .
yl | y{ ) -2
Lz 4)
41652356346,

,_.I_". m r"I':2
y[ J{y{ o + 2
41652956347, 4 1) <

rTI—\I
y I' y
41652956348, 4 -

':'E‘
(el

o
o
= | =
L i

Il
£
=)

41852956349,

Question Number : 78 Question Id : 41652914393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Lines are drawn parallel to the line

3
4x —3y +2=0, at a distance E from the

origin. Then which one of the following
points lies on any of these lines ?

Options:
1
41652956350, 4 3)
[ 1 1‘}
41652956351, 4 3)
1 2
4% 3]

41852956352,

.
e | =
L | k2
S, -

416525956353,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T 4x— 3y +2=0 F TH @ G 0 E
= 1 x-3 [ [ = o m
S ety & < FWWRE AFEHR
HH-11 U fag o8 8 foredt o g 22

Options:
1 1)
41652956350, 4 3)
1 i
416524956351, \4 3)
1 2 ‘|
41652956352, 4 3)
1 2 ‘|
4" 3

41652956353,

Question Number : 79 Question Id : 41652914394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The locus of the centres of the circles, which
touch the circle, x=+ ];2 =1 externally, also
touch the y-axis and lie in the first quadrant,
is :

Options:
= J1+2x, x= 0
41652956354, Y

y=,1+4x, x= 0

41652956355 7

X Jl44dy, y=0
41552956256, ye Y

x=J1+2y, y= 0
416525956357, e
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Correct Marks: 4 Wrong Marks: 1



T i, S g 22 + 2= 1 i = T F 8,
y-34 F o T F 2 a9 92 =Gqai §
foom %, &% F2 =1 fagua 2

Options:
= J1+2x, x= 0
41652956354, Y

y=,1+4x, x= 0

416525856355,
x= 1+4dy, y=0
416525956356, yr ¥

x=Jy1+2y, y= 0
41652856357, W

Question Number : 80 Question Id : 41652914395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

If the line ax +y =c, touches both the curves

g _
12+y2:1 'ﬂI‘ld y — ‘l’M'EJr thDI‘l |C| is
equal to :

Options:

72
41EEZ295E35E,

5=

41552356359,

R |

416525956360,

416525956361, -
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Correct Marks: 4 WrongMarks: 1
iz T ax+y=c, 2H1 951 .1‘2+]j2=1 GEIl

v = 42x 1 orel FA E, A o[ E
Options:

J2
416529563550,



51

4155259562359,

b

41E52856360,

41852956361, 2

Question Number : 81 Question Id : 41652914396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The tangent and normal to the ellipse
3x2+ 5y2=32 at the point P(2, 2) meet the
x-axis at Q and R, respectively. Then the

area (in sq. units) of the triangle POR is :

Options: _
34
41652356362, 15
16

416525956363, 3

41652956364, 2

e

41552856365,
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drgd 322+ 5,2 =32 % fag P2, 2) W @i+t
T TEI A a9 STHEd, x-318 H1 HE
Q T R W 2d 2 | o 1Y PQR =1 &5

(ot geIgai H) 2 -

Options: _
E

41652956362, 15
16

418529563635, 3



41652956364, 2
68
15

418529568365,
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Correct Marks: 4 Wrong Marks: 1
If 5x +9=101is the directrix of the hyperbola

16x2— 9y2=144, then its corresponding

focus is :

Options:

41652956366_{'"5*03

41652956367, (2 0)
FE S
=39

41652956368, -
e
(5.0

41652956369, 2
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Correct Marks: 4 Wrong Marks: 1
Afs AfTrEed 16x2— 92 =144 %1 2
(directrix) 5x +9=0 % Gl THH A EIEE T
T

Options:

a1652956366. (72 0)

416525956367, (.0)

41652956368, d

41E85295E8369.



Question Number : 83 Question Id : 41652914398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

A perpendicular is drawn from a point on
7~ = & =i to the plane
2 1 1

x+y+z=3 such that the foot of the
perpendicular Q also lies on the plane
x —y+z=3. Then the co-ordinates of Q

the line

are :

Options:

41852956570, (2,0, 1)

4165259562371, (1.0,2)

41652956372, (—1.0,4)

41650056373, (¥ 0 1)

Question Number : 83 Question Id : 41652914398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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. x-1 iy+1 ¥ % 5 b
@ — =“’—]=T U fag ¥ 9Aaa
x+y+z=3 WTH od 59 FHR e ™ 6
THF IR Q, THAA x —y+z =3 W Hi frurg
21 WM Q F FAew= ¥

Options:

416528956370, (2.0,1)

4165258562371, (1.0,2)

41652956372, (—1.0,4)

41650056373, (¥ 0 1)
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Correct Marks: 4 Wrong Marks: 1



If the plane 2x—y+2z+3 =0 has the

distances E and ; units from the planes

dx—2y+4z+A=0 and 2Zx—y+2z+ pn =0,
respectively, then the maximum value of
A+ pisequal to:

Options:

41652956374, °

41652056375, 9

41652956376, 19

41652956377, 19
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Ife FHAA 2x—y+2z+3=0 I HEAA

dx—2y+4z +A=0 M 2~y +2z+p=09
n 1 2 )

<l Ew;m%?ﬁmprﬂ

Afireras 9 #

Options:

41652956374, 2

41652056375, 9

41652956376, 19

41652956377, 19
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Correct Marks: 4 WrongMarks: 1
The distance of the point having position

o

vector —1i + 2)1‘. t 6k from the straight
line passing through the point (2, 3, —4)

gl Al

and parallel to the vector, {-,: -3 ; 4k

15 :

Options:



41652956378, ©

=

41652956379, 4

41652956380, 2V19

41652956351, 3

Question Number : 85 Question Id : 41652914400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

u foig forgam foafa afewr — i + 2 + 6k
2, &I U W T, S f6g (2, 3, —4) AR

El'[?ﬂ'%?[m ey f.,: | *J-,; 4;‘; F q['ﬁI%,

ki @ T

Options:
41652056378, ©
41652956379, ¢
41652956380, 2V13

41652956381, $V3
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Correct Marks: 4 Wrong Marks: 1
If both the mean and the standard deviation
of 50 observations x, x», ..., Xz, are equal to
16, then the mean of (x,— 4y, (25— 45 e
(x59—4)%is:

Options:

41652956332, 380

41E85295E8385. 400

41552956384, 480

416523856385, 525
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afe 50 HeTUl xy, X, ..., Xgq 1 A T HAF
foaed 391 16 &, @ (v, — 42 (x,—4)2 ..
(Xoq—4)2 FT A T :

Options:

41652956382, 380

416525956383, 400

4165289562384, 480

41852956385, 525
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Minimum number of imes a fair coin must
be tossed so that the probability of getting
at least one head is more than 99% is :
Options:

41652956386,

41852956387, 6

=

41852958388, ¢

41652956389, O
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+9 4 F9 U 99 a4 = ifgwa 99% o
v 21 ?
Options:
41652956386,

(11

=}

41552356387,

1

41652956388, ¢



41652956389, O
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Correct Marks: 4 Wrong Marks: 1
1 1Y _

If cos " x—cos = o, where —1=x=1,

—25}};-::2'152

k2 |=

, then for all x, y,

Ay 4xy cosa + yz is equal to :

Options:

41652956390, 2 SINW
41650956391 L sin“a— 227y
41652956392, 48N
JiEEsosasegs Teosa Y’
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; 5 11 -
iz cos x—cos I%: o, 9el —1<sx=1,

—25;;52,15% %,F[\Iﬂﬁﬁx,y,%ﬁm

4x2 — 4xy cosa + L.r2 ELELS SET -

Options:

41652956390, 2 SiNW
41652956391 4 Sin"a— 20
41652056392, 4 SN
41652056393, 4 costat 2%y
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The angles A, B and C of a triangle ABC
are in AP. and a : b=1: 3. If

c=4 cm, then the area (in sq.cm) of this
triangle is :

Options:

41650056394 3

4165259562395, Z\E

4
415523563396, ﬁ

Sl

41852956397,
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TF A ABCHFFMA, B a1 C HHi®
Ui H ¥ qMa:b=1: (3 T1 A& c=4 T
2, O 39 TS 1 e (a9 ue ) ¥
Options:

41650956394 3

415529563595, zﬁ

4
4155285623596, ﬁ

e

416523562397,
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The negation of the Boolean expression
~5v (~r~s) is equivalent to :

Options:

41652956308, ° ¥ T

41652956399, > M T



416529568400, T

41652956401, > T
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o TAF ~ s (~ras) F FAUH T H G
e F gugea 27

Options:

41652956308, ° ¥ T

41652956399, 7 7

416529568400, T
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